1 A small loop of area 6.8 mm? is placed inside a long sol-
enoid that has 854 turns/cm and carries a sinusoidally varying
current i of amplitude 1.28 A and angular frequency 212 rad/s.
The central axes of the loop and solenoid coincide. What is

the amplitude of the emf induced in the loop?
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@ In Fig. 30-35, the magnetic
flux through the loop increases
according to the relation Gy =
6.0¢% + 7.0t, where @ isin mil-
liwebers and ¢ is in seconds. (a)
What is the magnitude of the

" emf induced in the loop when

¢ = 2.0 s? (b) Is the direction
of the current through R to the
right or left?
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*3 A wire loop of radius 12
¢m and resistance 8.5 ) is lo-

cated in a uniform magnetic ~05 -

field B that changes in magni-. S N
tude as given in Fig, 30-36. The 0 90 10 6.0
loop’s plane is perpendicular ) ¢ (s)

to B. What emf is induced in Fig. 30-36 Problem 3.
the loop during time intervals
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@ A uniform magnetic field B is perpendicular to the plane

of a circular loop of diameter 10 cm formed from wire of di-
ameter 2.5 mm and resistivity 1.69 X 10-8 () - m. At what rate
must the magnitude of B change to induce a 10 A current in
the loop?
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@ A rectahgular loop (area = 0.15 m?) turns in a uniform
magnetic field, B

= 0.20 T. When the angle between the field
and the normal to

the plane of the loop is 7/2 rad and increas-
i_xll_gfat 0.60 rad/s, what emf is induced in the loop?
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